SECTION-1: ANALYSIS OF BUSINESS SITUATIONS

Directions : There are two passages in this Section.
RBead also the directions for answering
questions under the passage before
answering.

PASSAGE - I

A large departmental stores chain decided
to organise a New Year sales in all its 14 branches in
the City. The M.D. set the goals for the sales.

High volume low margins should be the
major thrust.

New customer base has to be created through
the sales and at the same time sustaining the existing
customer has to be ensured. He asked the Sales stat
to select good quality products carefully and
out the discounts ensuring customer attractior e
should be not stock-outs during the sales ence,
agreements should be made with th iers to
ensure the availability of the prod) r New Year

sales.

ed for selection of
g product displays,
iporary staff, liaison with
agencies and Customer
Relations. El arrangements were customer
convenienc Cueing, catering - services, etc. It
was decided to ask for police bandobust. Special
uniforms were made for the sales staff. It was decided
to have a VIP to inaugurate the sales at each centre.
Prizes/ additional incentives were worked out on
volume of purchases without violating statutory
regulation. The staff worked hard to ensure the success
of the sales. Manager of each branch was made the
Coordinator, who was allowed to mobilise all the
resources needed and take appropriate decisions.
M.D. had also assigned the total responsibility to his

Separate teams w
products advertising i
selection and trainin,
suppliers/Cre

GM(Pur). He was asked to lay down all the activities
both at the Corporate/ branch levels and assign them
to various people. Delegation was the key aspect and
control was to be discrete and minimal. Sales people
were to be motivated through Performance Awards.
Commissions, etc.

M.D. senta circular to all the staff, soliciting
their cooperation in making the D day a success -
paving the was for further growth of the Company.

he questions that follow relate to the
preceding passage. Evaluate, in terms of
the passage, each of the item given. Then
select your answer from one of the
Jfollowing classifications.

Directi

O

(4) A Major Objective in making the decision :
one of the goals sought by the decision.

(B) A Major Factor in making the decision : an
aspect of the problem, specifically
mentioned in the passage, that

lly affects and /or the

decision.

(C) A Minor Factor in making the decision : a
less important element bearing on/or
afffecting a Major factor, rather than a Major
objective directly.

(D) A Major Assumption in making the decision
: a projection or supposition arrived at by
the decision make before considering the
Jfactors and alternatives.

(E) An_Unimportant issue in making the
decision : and item lacking significant
impact on, or relationship to, the decision.

1. M.D. Assigning the total control to GM (Pur).



Suppliers are to be approached to ensure
availability of goods.

Discounts for each product to be worked out to
attract customers.

A V.IP. to inaugurate the sales at each branch.
Recruitment and Training of temporary staff.
Police bandobust to be arranged.

Formation of teams for each activity to ensure
planning and co-ordination.

Objectives for sales clearly defined and
communicated.

Advertising, product displays etc. to ensure a
good response for the sales.

effectiveness.

.
Delegation at every level would ensﬁz\

Which of the following activities werg. Klggned
to ensure the success of New Ye

1. Having a VIP to inaugurate es

1I. Availability of the prod@mcluded in the
sales. $

111.One person in gﬁ%mml of all activities

for each brs@
(a) T only 0 (b) I only
©1la ly (d) I only
(e) Il 111 only

Each activity was carefully planned

L. Through formation of a separate team to look
into each area

IL. Placing a Senior Executive to be overall in
charge

111 By direct involvement and active interest of
M.D

(a) I only
(c) 1T only
(e) I and 111 only

(b) 11 only
(d) Iand II only

13.

Sales staff were motivated to put in their
‘maximum efforts

1. Through product discounts, prizes, etc. to
customers

11. Through direct approach my MD, by writing
to each of the staff

IIL. Through proper training and providing a
distinct uniform

(a) IT only (b) I only

(c) Lonly (d) 11 and I11 only

(e) I and I11 only

The goal set for the sales by MD
1. qO\¢reate public awareness through
ertising
) To motivate the staff to do better and
effectively
111 To create new customer base
(a) Il only (b) L and I only
(c) T only (d) 1, Il and 111
(e) I and IIT only

The customer satisfaction was ensured through

1. Providing facilities during the sales such as
catering services

1I. Making sure availability of good quality
products at discounts throughout the sales

[II.Providing adequate staff
employment of temporary staff

through

(@)1land1 (b)All
(c)1 only (d)IT only
PASSAGE - II

Coirfoam, a small company producing foam

rubber mattresses was in financial trouble, and its
owners wanted to sell it. The company has been

established some twenty years ago, but its market
share had steadily declined over the last five years.

Since Mr. Krishnan had no previous experience in

the mattress business he requested his friend to tell
him what he could do about it



His friend analysed the company’s resources.
Its best resources was its product and brand name.
However, synthetics are much cheaper than from
rubber mattresses. Latex mattresses are known for
their orthopaedic and anti-allergic qualities, among
others. The coirfoam brand name had very nearly
become a genetic term for all types of rubber
mattresses Coirfoam, however was the only latex
mattress produced locally.

Apart form a superior product, the company
had few resources. Its equipment; though satisfactory
was old. It operated in leased premises on a year; to-
year basis, although the landlord was willing to
conclude a long-term agreement on favourable terms.
On the other hand, the company’s labour force was
experienced and dedicated and its production manager
had more than ten years’ experience in latex
manufacturing

The Chairman of the company, was seve:&@‘

years old and wanted to retire. Apart from Sﬂb
Manager, on one else shared Iesponsibi@ T
marketing or administration. He told Krish@ lend
that if the company were sold, he had}.@ f
remaining in service; he had ei;
experience in the mattress ij
manager left the company,

s another issue that
g‘éﬁy

inancial position was
any was heavily in’ debt and its
extended. There was some question
e company would be able to purchase
enough latex to keep production going but the
manager assured that the company had a bank letter
of credit to purchase an additional three months’s
supply.

Inspite of the Chairman’s optimism, the fact
was that his company had steadily lost market share.
Once the dominant mattress manufactures with fifty
percent of the local market, its market share had
declined to less than ten percent. The Chairman
attributed this decline to popularity gained by spring
s, who had only begun
production five years ago. Spring mattress now

tion of

suitable replacement.
Krishnan’s friend hag

Coir
precarious. Tl

mattress manufacturer

accounted for seventy percent, with the remaining
twenty percent shared by a number of small plants
producing synthetic rubber mattresses. Spring
mattresses had some attributes similar to those of
foam rubber, such as orthopaedic qualities. They were
less costly to manufacture but sold to be customer at
about the same price as coirfoam mattresses.
Because of coirfoam financial difficulties,
it ceased advertising in newspaper and no radio for
over the past five years. As a result retailers were
reluctant to handle the product. In contrast to it, two
spring mattress manufactures had advertised heavily
in the mass media. One of those manufacturer’s
products wassold exclusively by the largest furniture
try. During his study of the mattress
mber of retailers had expressed the
opir{ontd Krishnan’s friend thata coirfoam product
capse of the lack of advertising. One retailer was
ted as saying “It is true that older people
Temember coirfoam but these mattresses last for
almost twenty years”. The big market is not the
replacement market, but sales generated by family
formation. Thousands of young couples get married
every year and every marriage means another mattress
sale. But these young couples only see advertisements
for spring mattresses. It is obviously easier for any
salesman to sell a mattress which his customers have
seen in countless advertisement that one which is
relatively unknown Krishnan’s friend was aware of
the fact that if coirfoam was ever to regain some of
its lost market share, it would have to launch a major
advertising programme to educate young adults about
the important attributes found in its product. A major
question that needed an immediate answer was: “To
what extent are people aware of coirfoam mattresses
and their attributes? Other question involved the
attitudes of people toward foam rubber mattresses in
general and how these attitudes compared to those
toward spring mattresses. Krishnan’s friend ordered
a market research survey to obtain answers to his
questions. In brief, the study of coirfoam mattresses
showed that customers over twenty-five years of age
who were aware of coirfoam mattresses had
favourable attitudes towards their attributes. About
three quarters of these people expressed a preference




for foam rubber mattresses for their children (by
contrast with other mattresses for their own use).
Awareness among younger segments of the population
of the attributes of foam rubber mattress in general,
and coirfoam in particular was very low. Few people
expressed an intention to buy foam rubber mattresses.
On the basis of the preliminary research Krishnan was
optimistic that he could turn the company around. In
support of his belief, he cited the recognition of the
company among a significant portion of the population
and that fact that they would buy a coirfoam for their
" children. He believed that once retailers became aware
that new management had taken over the company,
they would be willing to stock the product, Krishnan
was aware that the research findings were not always
in agreement with his conclusions. However, the'
findings that young people were relatively una
of coirfoam did not seem o worry him. He /R
well designed advertising program woul é«
many people to buy a foam rubber m:
than any competing type. Moreove
of the new management team w
among coirfoam bankers,)

til confidence
lines would be
increased thereby improy company’s financial
position. However. b %king a final decision as
to whether to purcl foam, Mr. Krishnan waited
for his friend’s port and recommendations.

Directions @é questions that follow relate to the
- preceding passage. Evaluate, in terms of
the passage, each of the items given. Then
select your answer from one of the
following classifications and blacken the
corresponding space on the answer sheet.
(4) A Major Objective in making the decision :
one of the goals sought by the decision

maker.

<

16.

17

18.

5

0
L

21.
22.
23.
24.

253

(B) A Major Factor in making the decision : an

aspect of the problem, specifically
mentioned in the passage, thai
affects and/or the

decision.

(C) A Minor Factor in making the decision - a
less important element bearing on/or
affecting a Major factor, rather than a Major
objective directly.

(D) A Maigr Assumption in making the decision

yection or supposition arrived al by

lecision make before considering the
factors and alternatives.)

1E) An Unimportant issue in making the
decision : an item lacking significant impact
on, or relationship to, the decision.

Public awareness of the high quality of coirfoam
mattresses.

The anti-allergic qualities of coirfoam
mattresses.

Attitude of older consumer towards, coirfoam
mattresses.

Willingness of retailers to stock coirfoam
products in the future.

Need to import latex rubber.

Coirfoam’s present market share.

Krishnan’s friend’s recommendations.
Coirfoam leased its premises.

Orthopaedic qualities of coirfoam mattresses.

Age of manufacturing equipment.



SECTION - II : READING COMPREHENSION

Directions : This Section contains three passages. You
have 10 read each carefully. Each passage is
Jollowed by questions based on its contents. Afier
reading each passage choose the best answer
10 each question. The questions are based on
what is stated or implied in each passage.

PASSAGE - I

Ocean water plays an indispensable role in
supporting life. The great ocean basins hold about
300 million cubic miles of water. Form this vast
amount, about 80,000 cubic miles of water are sucked
into the atmosphere each year by evaporation and
returned by precipitation and drainage to the ocean.
More than 24,000 cubic miles of rain descend,
annually upon the continents. This vast amoun
required to replenish the lake and s!reams '@

and water tables on which all flora and
dependent. Thus, the hydrosphcre pe ‘ganic
istic:

existence.
ose of any other

The
liquid. One anomaly 1s®tater upon freezing

because water has pmpemes

expands by about 9 p ‘whereas most liquids
contract on cooling. reason ice floats on water
bodies instead of@infifig to the bottom . If the ice
sank, the hygre e would soon be frozen solidly,
except for Wi layer of surface melt water during
summer@son. Thus, all aquatic life would be
destroyed™and the interchange of warm and cold
currents. Which moderates climate would be notably
absent.

Another outstanding characteristic of water
is that water has a heat capacity which is the highest
of all liquids and solids except ammonia. This
characteristic enables the oceans to absorb and store
vast quantities of heat, thereby often preventing
climatic extremes. In addition, water dissolves more
substances than any other liquid

It is this characteristic which helps make
oceans a great storehouse for minerals which have
been washed down from the continents. In several

areas of the world, these minerals are being
commercially exploited. Solar evaporation of salt is
widely practiced. Potash is extracted from the Dead
Sea and Magnesium is produced from sea water along
the American Gulf Coast.
26.  The author’s main purpose in this passage is to
(a) describe the properties and uses of water
(b) illustrate the importance of conserving water
(c) explain how water is used in commerce and
industry
al the extent of the earth’s ocean masses
@) compare water with other liquids
g" According to the passage, fish can survive in the
ocean because N
(a) they do not need oxygen
(b)ice floats
(c) evaporation and conduction create a water
cycle

(d) there are currents in the ocean
(e) water absorbs heat

28.  Which of the following characteristics of water

does the author mention in the passage?
I. Water expands when it is frozen

II. Water is a good solvent

IIT. Water can absorb heat

(b) 11 only

(d) I1 and 11 only

(a) I only
(c) I and II only
(e) L, M and 1T

29.  According to the passage, the hydrosphere is not
(a) responsible for all forms of life

(b)able to modify weather

(c) a source of natural resources

(d) in danger of freezing over

(e) the part of the earth covered by water



30. The author’s tone in the passage can best be

described as

(a) dogmatic

(b) dispassionate
(b) speculative
(c) biased

(c) fascinated

31. The author organizes the passage by
(a) comparison and contrast
(b) juxtaposition of true and untrue ideas
(c) general statements followed by examples
(d) hypothesis and proof
(e) definition of key terms

3

sl

Which of the following statements would be most
likely to being the paragraph immediately
following the passage?

(a) Water has the ability to erode the lar \
(b) Magnesium is widely used in m ical

processes Q

(c) Now letus consider the gedegYand masses

(d) Another remarknpxecfkny of ice s its

strength \}

(e) Droughts an@n ing are two types of
e

disasters d with water.

6 ASSAGE - II

A ly issued report reveals in facts and
figures what should have been in principle that quite
a lot of business companies are going to go under
during the coming decade, as tariff walls as
progressively dismantled. Labour and capital valued
at 600 billion rupees are to be a made idle through
the impact of duty free imports. As a result, 35,000
workers will be displaced. Some will move to other
jobs and other departments within the same firm.
Around 15,000 will have to leave the firm now
employing them and work elsewhere.

The report is measuring exclusively the
influence of free trade with Europe. The authors do
not take into account the expected expansion of

production over the coming year. On the other hand.,
they are not sure that even the export predictions they
make will be achieved. For this presupposes that a
suitable business climate lets the pressure to increase
productivity materialize.

There are two reasons why scenario may not
happen. The first one is that industry on the whole is
not taking the initiatives necessary to adapt fully to
the new price situations it will be facing as time goes
by.

This is another way of saying that the
manufacturers do not realize what lies ahead. The
Government is to blame be saying that in ten year’s
time tariffs pm,all industrial goods imported from
Europe \4 ?e eliminated. There will be no
adjusf sistance for manufacturers who cannot
adap{_tp this situation .The second obstacle to
a&iusmem is not stressed in the same way in the

@pon; itis the attitude of the service sector. Not only

are service industries unaware that the common
market treaty concerns them too, they are artificially
insulated from the physical pressures of international
competition. The manufacturing sector has been
forced to apply its nose to the grindstone for sometime
now, by the increasingly stringent import -
liberalization program.

The ancillary services on which the factories
depend show a growing indifference to their work
obligations. They seem unaware that over manned
ships, under utilized container equipment in the ports
and repeated work stoppages slow the country’s
attempts to narrow the trade gap. The remedy is to
cut the fees charged by these services so as to reduce
their earnings - in exactly the same way that earnings
in industrial undertakings are reduced by the tariff
reduction program embodied in the treaty with
European Community.

There is no point in dismissing 15,000
industrial workers from their present jobs during the
coming ten years if all the gain in productivity is
wasted by costly harbour, transport financial,
administrative and other services. The free trade treaty
is their concern as well. Surplus staff should be
removed if need be, from all workplaces, not just from
the factories. Efficiency is everybody’s business.



33,

w
5

36.

The attitude of the report as described in the
passage may best be expressed as

(a) Harshly condemnatory because industry is
not more responsive to the business climate

(b) Optimistic that Government will induce
industry to make needed changes

(¢) Critical of labour unions

(d) Pessimistic that anything can be done to
reduce the trade gap

() Objective in assessing the influence of free
trade on employment.

What is the meaning of free trade?

(a) Unlimited sale of goods in Europe

(b) Trade on barter basis

(¢) The elimination of tariffs

38.

(a) The prospects of Free Trade

(b) Government Intervention in World Trade
(c) Trade with the common market

(d) What lies Ahead?

(U p

and
Which of the following will occur because of
duty free imports?

1. 600 billion rupees of capital will be idled.

IL. Thirty-five thousand workers will be
unemployed
I Fifteen thousand firms will face bankruptcy

() sale of price discounted goods to Europa@

Countries

(e) Trade with only the so - cal ree
countries™. i.e., Western_ Eurq@
It can be inferred that the t djustment

assistance refers mainly lo

(a) unemployment ¢

ncial assistance to
by free - trade

(b)some sort o
manufactu

(c) help in
(d)aid
(e) subsidy payments to increase exports

ing plants to Europe

icing work stop pages

The author’s central recommendation seems to
be that

(a) unemployment should be avoided at all costs

(b) redundant labour should be removed in all
sectors

(c) government should control the service sector
(d) tariffs should not be lowered
(e) workers should be retrained

Which of the following titles describes the
context of the passage?

39

41.

(d) 1T and I11 only

(e) L, and 111

According to the passage, the Government is
responsible for

(a) increasing tariffs

(b) subsidizing exports

(c) not explaining its position

(d) adjustment assistance

() over manned ships

Tariffs will be reduced on

(a) all manufactured goods

(b) manufactured and agricultural goods

(c) all goods

(d) industrial goods

(e) industrial and consumer goods

Which industries will be affected by tariff
reductions?
L. Services 11. Manufacturing
I11. Extracting

(a) I only

(b) I only



()1 and I only 1) sporatic

(d) 11 and I1I only Z) enign?a.tic
t]

(eI, Iand 111 ) parasitic

e) toxic
FASSAGESTIL 43. The passage states all the following about fungi

Observe the dilemma of the fungus; it is a DACERL:
plant, but it possesses no Chlorophyll. While all other (a) They are responsible for the decomposition
plants put the sun’s energy to work for them combining of much plants life
the nutrients of ground and air into the body structure, (b) They cannot live completely apart from other
the chlorophyllous fungus must look elsewhere for plants

an energy supply. It finds it in those other plants which,
having received their energy free from the sun,
relinquish it at some point in their cycle either to other
animals (like us humans) or to fungi.

(c) They are poisonous to resin - producing
plants.
(d)TI nnot produce their own store of

In this search for energy the fungus has
become he earth’s major source of rot and decay.  44. @zumor*s statement that “you are watching a
Wherever you see mold forming on a piece of bread, & fungus eating” is best described as

or a pile of leaves turning to compost, or a blow
down tree becoming pulp on the ground, you e
(b) ironical

watching a fungus eating. Without fungus actj
earth would be piled high with the dead p|@§40f (c) parenthetical

(a) figurative

past centuries. In fact, certain plants ntain (d) enonecous
resins that are toxic to fungi will I efinitely; 3

; e Rend (e) contradictory
specimens of the redwood, for i can still be

found resting on the forest floos
been blown down.

ries afterhaving 45, The author is primarily concerned with

(a) warning people of the dangers of fungi

2. Which of the follGwiftd words best describes the (b writing a humorous essay on fungi
fungus as %c ictgllin the passage? (©) relating how most plants use solar energy
o) tier (d) explaining the long life of some redwoods.

SECTION - I1I : PROBLEM SOLVING

Directions : For each of the following questions, select 47, Simplify ﬁ;ﬁ
the choice which best answers the questions. St

(@) 3-13
46. Find without actual division, the remainder if (b) 4-15
4x° —7x> —x? +8 isdivided by 2x+3 © 7-417
@ @215
-2 () None of these
[OF] s
-5 48. A corporation declares an annual dividend of 6%.

Ram owns 325 shares (par value Rs.75). How
(¢) None of these much dividend does her receive?



49.

50.

51.

(a) Rs. 1.462.50
(b) Rs. 562.50
(c)Rs. 872

(d) Rs.670

(e) None of these

53

The sum of the squares of three numbers which
are in the ration of 2 : 3 : 4 0s 725. The three
numbers are

(a)11.14, 19
(6)9. 16,21
(¢) 10, 15,20
(d)8.12,25

(e) None of these

54.

Ten years ago a father was seven times as old as
his son, two years hence twice his age will be
equal to five times his sons’s age. What are thejr
present ages?

(a) 38, 14

(b)40, 20

(¢) 52,26

()50, 25

(e) None of these

55.

e is converted into the
dii of both are equal. Find

()20 cm

(d)22 cm

(e) None of these

Find the greatest number less than 10000 which
is divisible by 48, 60 and 64

(a) 8500

(b) 9600

(c) 7600

(d) 9400

(e) None of these /

&

In an examination, the average was found to be

50 marks. After deducting computerization errors.

the marks of the 100 candidates had to be

changed from 90 to 60 each and the average

came down to 45 marks. The total number of

candidates who took the examination were

(a) 300

(b) 200

(c) 600

(d) 400

(e) None of these

s Aand B are 200 km apart. A persons

Is by car in the direction of B at a

60 km per hour. A person from B starts

same time and travels by motor cycle at a
Peed of 40 km per hour towards A. After how

much time will they meet?

(a) 4 hours

(b) 3 hours

(c) 2 hours

(d) 1.75 hours

(e) None of these

Two pl:
froi

A shopkeeper gives a discount of 10% on the
marked price of an item but still he makes a
profit of 10%. If the market price of the item is
Rs. 330, then the cost price is

(a) Rs. 300

(b) Rs.270

(c) Rs. 480

(d) Rs. 290

() None of these
If x is 25% more than y then what percent is y
less than x?

(a) 10%

(b) 12%

(¢) 15%

(d) 20%

(e) None of these



57

If the shares bought at prices Rs.300 to Rs.450
are sold at prices ranging from Rs. 400 to Rs.
525, the maximum possible profit selling a

specified number of shares is Rs.2,250. The 61.

number of shares sold is
(a) 10

(b) 15

()20

(d)25

(e) None of these

A sum of money borrowed at compound interest

amounts to Rs.672 in 2 years and Rs.714 in 3 62.

years. The rate of interest is

(2)6.25%

(6)5%

(€)3.5%

(d)8.50%

() None of these

From the top a hill 400 metres high, the Gge

depression of the top and the bottos

are 300 and 45° . The height of the Jower is

‘ 400(v3-1) 3 O
(@) ——=—m
Bd >

40043 = Q

® TR

2005-1)
3

2003 2

9 (5o1)

(©) m

(e) None of these

A(4.1); B(2, 1) and C (0,1) are the vertices ofa

triangle. The centroid of the triangle is 65.

(@) (0, 1)
®)(2, 1)
©)(2,0) (

(
()
@\c) Rs. 16,075

Tower 63.

64.

(@)(0,0)

(e) None of these

If x—y=3 and x+2y =6 are the diameters
of a circle then the centre of the circle is at the
point

(@)(0,0)

(®)(1,2)

@ (1.-1)

@@ 1

(&) None of these

Jyothi invested Rs.400 at the beginning of every

month paying 8% on recurring deposits.
How ould she get at the end of 3 years?
5, 126

15,750

(d) Rs. 16,176
(e) None of these
Volume of a right circular cone of height 12 cm

and radius 8 cm is how many times the volume
of sphere of radius 4 cm?
()4
(b)2
[OF]
@s
(e) None of these
2+
Ifa+b+c=0, then value of ——— is
abc
(@-1
()1
(©-3
(3
(e) None of these
If logy, x +logy x+logy x = 11 the value of x
is
(a) 625
(b) 700



(©)729
(d)825
(e) None of these

%,

66. sin"x cos xdx is

oy
7
S
®
2
(c) B
3
s
(d) 2
5) None of these
e
o

1 5k

is
n
9
@y

x
®)1-7

© 3%

or
(e) None oflhe‘b’\'\r

68. One num
probabjii

)

Directions : Each question below is followed by two
labelled facts [labelled as (a) and (b)].
You are to determine whether the data
given in the statement are sufficient for
answering the questions. Use the data
given, plus your knowledge of
Mathematics and every day facts, to
choose amongst possible answer from (4)
1o (E).

is)selected from 1 to 10. The
t it is divisible by 2 or 3 is

i
@ 75
7
® o
3
(OFry
9
@7
(e) None of these

69. What is the probability of getting a total of 7 or
11 when two dices are thrown up?

(e) None of these

70. The median of the following is

(ZTsTslelo[ora] 7
Slsie 6] 4
@6
)9
©7
(D8
(e) None of these

SECTION - IV : DATA SUFFICIENCY

(4) Ifyou can get the answer from (a) alone but
from (b) alone.

(B) If you can get the answer from (b) alone but
not from (a) alone

(C) Ifyou can get the answer from both (a) and
(b) but not from (a) alone or (b) alone.

(D) If either statement (a) or (b) is sufficient to
answer the question asked

(E) Ifyou cannot get the answer from statement
(@) and (b) together, but need even more
data.



1.

76.

2

78.

Is the number 3~ an odd integer? (You may
assume that Y is an integer)

(a)N = 3K, where K is an integer

®

0.

(b)N =6J +3. where J is an integer

What was the value of sales of ABC Company

in 19807

(a) The sales of ABC Company increased by Rs.
1.00,000 each year from 1970 to 1980.

(b) The value of the sales of ABC Company
doubled between 1970 and 1980.

81.

If x° - y© =0, What is the value of x* —*?

(a) x is positive
82.
(b)y is greater than 1

If a and b are the both positive numbers. then

which is larger. 24 or 3 ? A@

(b)a is greater than or equaltob + 3 6

How far is it from town A to to own C

is 12 km cast of town A 83.

(a) Town C is South ot:m§

(b) It is 9 km from m»\\} 5 town C

Is x greater than. %

(a)xy =5 0
x ; >

®5)

Which of the four numbers w, x, y and z is the
largest?

(a) a is greater than 2b

84,

(a) The average of w, x, y and z is 25
(b) The numbers w, x and y are each less than
24

How much does Susan weigh? 85.
(a) Susan and John together weight 100 kg.

(b) John weights twice as much as Susan

Find x +y (

(@x -y =6

(b)-2x +2y =-12

What percentage of families in a state have

annual income over Rs.2,25,000 and own a car?

(a) 28% of the families in the state have an
annual income over Rs. 2,25,000

(b)40% of the families in the state with an
annual income over Rs. 2,25,000 own a car

Does every bird fly?
(a) Tigers do not fly

(b) Ostr'&s do not fly
A % of wood: 5 feet long is cut into three

TaMtér pieces. How long is the longest of the
ree pieces?

(a) One piece is 2 feet 7 inches long

(b) One piece is 7 inches longer than another
piece and the remaining piece is 5 inches
long

How much is John’s weekly salary?

(a) John’s weekly salary is twice as much as
Fred’s weekly salary.

(b) Fred’s weekly salary is 40% of the total of
Chuck’s weekly salary and John’s weekly
salary

Ifa group of 5 craftsmen take 3 hours to finish a
job, how long will it take a group of 4 apprentices
to do the same job?

5 i
5 the rate of

(a) An apprentice works at

craftsman.
(b) The 5 craftsmen and the 4 apprentices
together will take 12> hoursto finish the job.

A sequence of numbers @,dy,d;.... is given by
the rule @? =ay,;. Does 3 appear in the
sequence?

(@) a =2

(b) a; =16



SECTION GLISH USAGE

SECTION - V : BANGLASTE Lo20=

Directions : In each of the sentences below,four 93, The oceurrence of this phenomenon is
words or phrases have been underlined. Select | 2

the underlined part which contains an error in occasionally observed b: the scientists.
usage or grammar. If there is no error, mark

answer space (3).

4 94. The help a plant to soak water.
86. The husband and wife were fond of one e
another. | 2 3 “ 95. o not left the school before the final

1 2

$7. They used to laugh whatever their teacher \ % St
spoke. | 2 3 4 examination he would stand first.
3

88. Even after hearing the leader for a long \ 96. Would you please tell me where can I get
1 2 1 2
time_the followers could not make ich copies of this application form.
he wasalking about. 3 4

4
89. While going to memarfftﬁegcumganiedm 97. He had gone to the theatre last night.
1 2\ 3 1 2 2

4

his friends. {8\,

4 98. Everyone of the man present has given some
1 2 3
90. When oke he asked where I am. money as_their contribution to the fund
2 3 4 4
91 Th@émin_atio_ns act as an incentives for 99. In old age there is nothing more miserable than
1 2 3 1 2 3 4
diligence. poverty

100. Hard work and perseverance is indispensable
92. Kingsley is one of the sincere student in our 1 2 £
! to success in life.
college
Fy




SECTION-1: ANALYSIS OF BUSINESS SITUATIONS

Directions : There are two passage in this section.
Read each one; read also the directions
for answering questions under the
passage before answering.

PASSAGE -1

FSL was a food company

name of the product. Finally the name Vegetable Scotch
was adopted but without enthusiasm from the
president’s son who believed that a name did not
express the gourmet image that he thought the name
should express. With the exception of the name this
man directed most of the decisions related to the

established in 1945. Until 1995 its major products
consisted of tomato specialities such as pickles and
barbecue sauces. Its consumer products business
accounted for 40% of sales; the balance consisted of
sales to restaurants, hospitals and armed forces. The
company has advertised for r hospital

program. From the beginning he argued
that there were already plenty of middle class
products on the grocer’s shelves. What was needed,
he believed, was a prestige-even a “gourment” - line.
The populdrity of expensive restaurants in cities
convis ung manager of the opportunity to

food ialiti

market but never for household consumers.

In 1995, the company introduced products meant fc
consumer market. The lines was composed@

number of dishes. Each package contained

necessary ingredients (except meat)

seasoned tomato sauce, cheese and@
sident, had

ucts. Jagdish’s
uickly picked up

enthusiasm for the produz
by other executives. ? ncla] expert wanted

ing

Jagaish son of the compan;
conceived the idea for the lme

expansion would e e company to solve a
number of financi blems associated with its

Early in the planning it was decided to limit
tribution to the regional markets in which this
company had previously established its reputation.
National distribution would be undertaken from the
beginning . It was planned that preparation would
be marketed in all major food chain and headquarters
would be made by food brokers handling such
products rather than brokers used to handling goods.
For the first time in its experience, FSL
p]anned to undertake and extensive consumer-
A small g agency

in Delhi with slight experience in handlmg food

inability to attg side capital . products was appointed. However by the time the
eetings were held through the agency has been selected and oriented to the marketing

summer. m inal thinking of the ittee was the time befors the d
that the product line should be introduced at the mtmducuon did not allow for the preparation of
or onTV. In

beginning of the food merchandising season, which
started on about October 1. This deadline however,

order to break into lhe consumer market at the time of
ion on October Ist a consumer-

proved to be isti ion of Product introd
the first items in the line did not get underway unul
ber 30 and i

using television
and radio was prepared. Except for the

e s e,

In July the problems involved in the product
introduction were not foremost in the planner’s
thoughts. Many hours were spent on discussing the

product introduction period, however, relatively little
thought was given in planning sessions to the total
amount money required to support the product with
consumer advertising.
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